WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬁ
Wilhelm Dommer Séhne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDDS
GmbH website: http://www.widos.de email:  info@widos.de

Working Instructions
Translation

Heating element butt welding machine

WIDOS 6113

Welding. Together.

C€

Keep for further use!

Headquarters: D-71254 Ditzingen-Heimerdingen Country court Stuttgart HRB 200973 Managing directors: Jiirgen Dommer, Dr. Kai Dombrowski



Product Identification OWIDDS

Model: Heating element butt welding machine
Type: WIDOS 6113
Serial number, year of construction: see type label

Customer Entries

Inventory-No.:

Place of working:

Order of spare parts and after sales service:

Address of manufacturer WIDO0S

W. Dommer Séhne GmbH
Einsteinstrasse b

D-71254 Ditzingen-Heimerdingen

Phone: ++497152 9939 0
Fax: ++49 7152 9939 40
E-mail info@widos.de
Internet www.widos.de

12.05.15 Working Instructions WIDOS 6113 Page 2 of 67



Introduction OWIDDS

Purpose of the document

These working instructions give you information about all important questions which refer to the construction
and the safe working of your machine.

Just as we are, you are obliged to engage in these working instructions, as well.

Not only to run your machine economically but also to avoid damages and injuries.

Should questions arise, contact our service team in the factory or in our subsidiary companies.

We will help you with pleasure.

According to our interest to continuously improve our products and working instructions, we kindly ask you to
inform us about problems and defects which occur in exercise.
Thank you.

Structure of the working instructions

This manual is arranged in chapters, which belong to the different using phases of the machine.
Due to this structure, the searched information can be easily found.

wIiDOS

Welding. Together.

©5/12/2015 WIDOS
W. Dommer Séhne GmbH
EinsteinstralBe 5
D-71254 Ditzingen-Heimerdingen

All rights reserved.
Reprinting only allowed with permission of the corporation.
Any changes are subject to technical innovations.

12.05.15 Working Instructions WIDOS 6113 Page 3 of 67



Contents OWIDDS

1. DESCRIPTION OF THE PRODUCT ...ttt s ssee st st sres s et sae s s s e s n e s e nne s 6
1.1. Usage and purpoSE-0TENTEA USE.....cuireiieeererrieierie et et et e st et se et sesae et e e e e se e e e e e e e e e e e sasseemn s 6
1.2. R 1= AV 11 T= - U1 PO 6
1.3. 000123 {0 11 T PPN 6
1.4. Designation of the ProdUuCt ... e e e se e e e 6

T, TECRNICAI HATA ..ttt 7
1.4.1.1. WIDOS B113 GENEral data ....cccceeececererieiecesise ettt 7
1.4.1.2. HEAtING BIEMENT ...ttt bbb bbb a bbbt i
1.41.3. PLANET <.t bR R AR bbbt 7
1.4.1.4. Hydraulic aggregate open (OPLIONAI) ..ottt sssae et ss s st asess st sssanssnenes 8
1.4.1.5. Hydraulic aggregate closed (0ptional) ..ot 8
1.4.1.6. BASIC fTAME ...ttt bbbt aee 8
1.4.1.7. Lift-0ff deVICE (OPTIONGI) c..cvuceeceectectecceeeectetee ettt bbb bbb bbb 8

1.5. MACRINE OVEIVIBW.....citeereeersereeereerssssesseseesessesesesrsse e ses s seesesnss s s seesesasss s s seessseesssss seessseessess seessssssenssseessnanse 9
1.6. A O S S OIS uuerteuerereeuerereeereseee s e s et e e e e st e st e e st e s e st e e se e e e e e e e e e e s 9

2. SAFETY RULES ...ttt sttt st s e s s s s e et e e b s a e s R e e e e e e e e e b e sh e saeenarenans 10
2.1. Explanation of the symbols and indications.......cccucoviiirnicn e e 10
2.2 ODbligations Of the OWNET ...t e e e e e e e e e e e e s 11
23. ODbligations Of the WOTKET ....c..ccciieiireirierr e ra s s s s e e s e s e s 1"
2.4. Measures Of OFgaNIZATION. ... ceiiiicr s e s e e e e e e e s e e e e e s e sre e e sa see e ea e e e nrennnnnne 1"
2.5. Information about safety Precautions ... 1"
2.6. InStructions for the Staff.........coc e e e "
27. Dangers while handling the Machine ... s 12
28. Maintenance, iNSPECtiON ANU FEPAIT c..oouiceiieee et sa e e s e e sre e e e 12
29. Dangers caused by @leCtric ENEIgY.......co i e s e e 12
2.10. Dangers caused by the hydrauliCs ... e e s e e e e e s 12
D28 I T o 1= YTl F 1 - 13

2.11.1.  Danger of catching clothes by the PlaNEr ... 13

2112, RiSK OF INJUNY DY MOISE ...ttt bbbt 13

2.11.3. Danger of combustion by heating element, reception box and welding area .........cocceeeeeveereneerereeresennenns 13

2.11.4. Danger of crushing by clamping devices and gUIdBWAYS ......ccccueeeereerreeeteeee et sse s ssseens 13

2.11.5.  Danger of stumbling over electric / hydrauliC WIrs .......cccvereveceseesessesesesee et ssseens 14

2.12.  Structural modifications on the MACRINE ........c.ocr i e sr s 14
2.13.  How to clean the MaCRINE ... e e e s s e 14
214, Warranty and lability ... e e e e e e e e 14

3. FUNCTIONAL DESCRIPTION .....ooioiiiiie e ceieciee et e st e e ee e e e e st s st e st e s e e e sae e s e e e st e e sre e e e e e ssensaensasenssenssensnennns 15

4. OPERATING AND INDICATING ELEMENTS .....ooiiiiiiiiiin e sirie s s ss s sres e s s sn s st sressre s s e snnen s 16
4.1. Elements on open aggregate (OPtional)......ccucccccerenveee e e re e se e e s s s e ane s eaen 16
4.2 Elements on closed hydraulic aggregate (0ptional).........cccoeoeeoereece et et e e e 17
43. ST T3 11 F- Y] 1 TR 19

12.05.15 Working Instructions WIDOS 6113 Page 4 of 67



Contents OWIDDS

431, Puller for Reating IEMENT ........oceeeecreee et b bbb bbb ns 20

4.4. Elements at planer and heating elemMent ... ... o e e 20

5.  STARTING AND OPERATING .....coeeeeieee e ceee et e et e se et et ee e see e e e e e e eneese e e eneeneeees 21
5.1. Safety INAICALIONS .o.vice e e s s e s e e e e e s 21
5.2, Connection of hydraulic aggregate to basic MACINE .......cccovvceervcrcn i e 22
5.3. How to mount the lifting device (0PtioNal) ......ccceeceeiveeeeiere v v e s e e s 22
5.4. How to replace the reduction iNSErtS........cuiiicincrenne e e e s 23
5.5. Remove clamping ring With SUPPOIT ...t e e ee e s e 23
5.6. How to set the heating element tEMPErature ... irceerne e e s 24
5.7. WWRIAING PIOCESS .uuieeeeeruiriieieeerte e et et e et et e e e e e e e e st e e se et e sese e b eansseEa b e sataE e e smtab e e smb b e aesme e e e smn e e aneennanis 24
6. WELDING LOG AND TABLES ...ttt e re e e e e e e e e e e ene e e e e 27
7. MAINTENANCE AND REPAIR ... sse e s s sre s s e e s sre e 31
7.1. Maintenance and INSPECTION, FEPAIT c..cuiei e eeeeie e e et e et e e e eee e sae e e e se e e e e e e sme e e e nnnnans 31
1.2. How to check the hydraulic Oil IEVEI ... e e e e nn e 31
1.3. Used hydraulic Ol .....occiuicereiireericre e s e e e e e e e e e 32
1.4, How to vent the hydraulic CYNAErS ... e e e s s e nr e 32
1.5. o T T 33
1.6. L (0] T - PP SR 33
1.1. Clamping ElEMEBNTS ......civcireeeirierire et e e e a e et et e e e e e s 33
1.8. Lifting device (OPLIONAI) ...couiccceer e iree e vere s e v ve s s e v ne s s s se e sese s sene s e a s enenesensenin 33
1.9. DT 1o F - SR 33
R I 201 S o 0 ST 34
9.  HYDRAULIC AND ELECTRIC DIAGRAMS ... .. ettt et e se s see e e e eee e 35
9.1. Electric diagrams with hydraulic aggregate Closed........cccccurrinrrcrniesener s e 36
9.2. Electric diagrams with hydraulic aggregate OPeN..... ..o e e s e 45
10, SPARE PARTS LIST ..ottt et e st e e s e e e e e ee et e te e e e e e e e seerenne e e esneane s 53
10,1, BaSIC MACKHINEG ..o b e e e SR s 53
10.2.  Hydraulic aggregate open (OPtioNal).......ccccocrieceiriercsicse s re e s ree e e s e s e nnean 55
10.3.  Hydraulic aggregate enclosed (OPtional).......ccoororeececererrencee e re s e nnean 57
L0 o T 13T T 59
10.5.  HEALING IEMENT ...ttt e e et e e et s et e e e e et e s e et e se et e e seesbesannneas 61
10.6. ProteCHiON DOX oot e e s 63
10.7.  Lift off deVice (OPLIONQI)....ccc ettt st e e p e e 65
11. DECLARATION OF CONFORMITY ..ottt ee st e se e e se e e e e see e e e eneese e e eneese e e e ene s 67

12.05.15 Working Instructions WIDOS 6113 Page 5 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬂ
Wilhelm Dommer Sohne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDDS
GmbH website: http://www.widos.de email:  info@widos.de

1. Description of the product

This chapter gives important basic information about the product and its prescribed use.
All technical details of the machine are put together as a general arrangement.

1.1. Usage and purpose-oriented use

The WIDOS 6113 has been designed for the heating element butt welding of pipes and fittings with a
diameter range of @ = 315 - 630 mm.

(standard diameters: 315 / 355 / 400 / 450 / 500 / 560 / 630 mm)

It is a machine for construction sites and particularly designed for the usage on-site, as well as in the
workshop.

For this reason, the frame is kept small so that it can be used even under difficult conditions (e.g. ditch).
All use going beyond is not purpose-oriented.

The manufacturer is not responsible for damages caused by misuse.

The risk is held only by the user.

Also part of the purpose oriented use is

e respecting all the indications of the working instructions and
e performing the inspection and maintenance work.

1.2. Safety measures

In case of wrong use, wrong operation or wrong maintenance, the machine itself or products standing
nearby can be damaged or destroyed.

Persons being in the endangered area may be injured.

Therefore these working instructions have to be thoroughly read and the corresponding safety regulations
must be necessarily adhered to.

1.3. Conformity

The machine corresponds in its construction to the valid recommendations of the European Community as
well as to the according European standard specifications.

The development, manufacturing and mounting of the machine were made very carefully.

1.4. Designation of the product

The product is designated by two type labels which are attached at the aggregate and at the basic machine.
They contain the type, the serial number and the year of construction of the machine.

12.05.15 Working Instructions WIDOS 6113 Page 6 of 67



Description of product Chapter 1 OWIDDS

1.4.1. Technical data
1.4.1.1. WIDOS 6113 General data

Material which can be welded: PP, PE

Pipe diameter range: 0D = 315 - 630 mm

Weight: approx. 150 kg

Weight (without accessories): 500 kg

Feeding: CEE-32 A

Wire cross section: 4,0 mm?

Emissions - Noise exceeding 80 dB (A) may occur; during planing it is

obligatory to wear ear protection!
- When using the named pipe materials and when welding below
260°C no toxicant damp arises

Ambient conditions in the welding - take care for cleanness (no dust at the welding area)

area - If secured by an appropriate measurement that allowed conditions
for welding are indicated, it is possible to work in any outside
temperature condition as far as the welder is not constrained in its
manual skill.

- avoid humidity, if necessary use a welding tent

- avoid strong sun rays influence

- protect from wind, shut the pipe ends

1.4.1.2. Heating element

Power: 5,9 kW

Voltage: 400V (+-10%)

Current: 26 A (+-10%)

Frequency: 50 Hz

Surface: non-stick-coated

Outside-O: 684 mm

Weight: appr. 32 kg

Attached elements: - Electronic temperature control
- Control lamps, on/off-switch
- Connecting cable with plug

1.4.1.3. Planer

Motor: Three-phase alternating current motor
Power: 1.1 kW
Voltage: 400 V (+-10%)
Nominal current 35 A
Frequency: 50 Hz (+-10%)
Speed of motor: appr. 140 rpm
Attached elements: - On/off switch
- Connecting cable with plug
- Locking device
Weight: appr. 100 kg

12.05.15 Working Instructions WIDOS 6113 Page 7 of 67



Description of product

Chapter 1

Qwipnos

1.4.1.4, Hydraulic aggregate open (optional)
Feeding CEE-16A - Phase converter
Power: 2 kw
Voltage: 400 V (+ 10%)
Frequency: 50 Hz
Hydraulic oil tank: ca. 10 L
Power hydraulic pump 1,8 kW
Nominal current 352 A

Speed:

1380 - 2820 rpm

Max. working pressure of pump:

appr. 160 bar

Working pressure:

0-160 bar adjustable

Weight: appr. 45 kg

1.4.1.5. Hydraulic aggregate closed (optional)
Feeding CEE-32 A - Phase converter
Power: 11 kW
Voltage: 400 V (+ 10%)
Frequency: 50 Hz
Hydraulic oil tank: ca. 10 L
Power hydraulic pump 2,6 /3,1 kW
Nominal current 55/76A
Speed: 1380 - 2820 rpm
Max. working pressure of pump: appr. 160 bar
Working pressure: 0-160 bar adjustable
Weight: appr. 56 kg

1.4.1.6. Basic frame

Reduction inserts, pipe supports:

Optional dimensions

Material frame:

Structural steel

Material reduction inserts:

Aluminum

Max. force (F=P*A):

17,33 kN (at p= 100 bar)

Cylinder-&: 60 mm
Piston rod-: 50 mm
Length of stroke of cylinder: 420 mm
Weight appr. 475 kg
Velocity of piston rod: 3,4 cm/s
1.4.17. Lift-off device (optional)
Lift capacity: appr. 100 kg
Weight (complete) appr. 32 kg

See spare parts list for order numbers and single parts

12.05.15 Working Instructions WIDOS 6113

Page 8 of 67



Description of product Chapter 1

Qwinos

1.5.

Machine overview

Lift-off device (optional)

Basic machine with clamping devices

Planer

Heating element

Reception box

Hydraulic aggregate, open (optional)

N (OOl WN |-

Hydraulic aggregate, closed (optional)

1.6.

Accessories:

Following tools and accessories can be part of the delivery:

Plece_s / Denomination
machine
1 Tool bag for 10 parts
1 Socket spanner size 46
1 Allan key with T-grip, size 8
1 Torx screwdriver T10
1 Combination spanner size 19
1 Open ended key, size 24
Optional o Different reduction inserts,
o roller stands for the pipes,
e transformer 42V,
o crane for insertion and removal of heating element and planer
12.05.15 Working Instructions WIDOS 6113 Page 9 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬂ
Wilhelm Dommer Sohne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDDS
GmbH website: http://www.widos.de email:  info@widos.de

2. Safety rules

The base for the safe handling and the fault-free operation of this machine is the knowledge of the basic
safety indications and rules.

e These working instructions contain the most important indications to run the machine safely.
e The safety indications are to be followed by all persons working on the machine.

2.1. Explanation of the symbols and indications

In the working instructions, following denominations and signs are used for dangers:
This symbol means a possibly danger for the life and the health of persons by electrical
energy.

e The disrespect of these indications may have heavy consequences for the health.

This symbol means a general possible dangerous situation.
o The disrespect of these indications may cause slight injuries or damages on goods.

This symbol means a possible dangerous situation by moving parts of the machine

o The disrespect of these indications may cause heavy crushing’s of parts of the body resp.
damages of parts of the machine.

This symbol means a possible dangerous situation due to hot surfaces.

o The disrespect of these indications may conduct to heavy burns, respectively to self-
ignition or even fire.

This symbol means a possible risk of injury by noise exceeding 80 dB(A).
o Ear protection is obligatory

This symbol gives important indications for the proper use of the machine.

The disrespect of these indications may conduct to malfunctions and damages on the machine
or on goods in the surrounding.

Under this symbol you get user tips and particularly useful information.

e Itis a help for using all the functions on your machine in an optimal way and helps you to
make the job easier.

Q 8P PP

The regulations for the prevention of accidents are valid (UVV).

12.05.15 Working Instructions WIDOS 6113 Page 10 of 67



Safety Rules Chapter 2 OWIDDS

2.2. Obligations of the owner

The owner is obliged only to let persons work at the machine, who

e know about basic safety and accident prevention rules and are instructed in the handling of the machine,
as well as who

e have read and understood the safety chapter of this manual and certify this by their signature.
The safety-conscious working of the staff has to be checked in regular intervals.

2.3. Obligations of the worker

All persons who are to work at the machine are obliged before working:
o to follow the basic safety and accident protection rules.

e to have read and understood the safety chapter and the warnings in this manual and to confirm by their
signature that they have well understood them.

e to inform themselves about the functions of the machine before using it.

2.4. Measures of organization

e All equipment required for personal safety is to be provided by the owner.
e All available safety equipment is to be inspected regularly.

2.5. Information about safety precautions

e The working instructions have to be permanently kept at the place of use of the machine. They are to be at
the operator's disposal at any time and without effort.

e In addition to the manual, the common valid and the local accident protection rules and regulations for the
environmental protection must be available and followed.

o All safety and danger indications on the machine have to be in a clear readable condition.

e Every time the machine changes hands or is being rent to third persons, the working instructions are to be
sent along with and their importance is to be emphasized.

2.6. Instructions for the staff

e Only skilled and trained persons are allowed to work at the machine.

e It must be clearly defined who is responsible for transport, mounting and dismounting, starting the
operation, setting and tooling, operation, maintenance and inspection, repair and dismounting.

e A person who is being trained may only work at the machine under supervision of an experienced
person.

12.05.15 Working Instructions WIDOS 6113 Page 11 of 67



Safety Rules Chapter 2 OWIDDS

2.7. Dangers while handling the machine

The machine WIDOS 6113 is constructed according to the latest technical standard and the acknowledged
technical safety rules. However, dangers for the operator or other persons standing nearby may occur. Also
material damages are possible.

The machine may only be used
e according to the purpose-oriented usage
e in safety technical impeccable status

Disturbances, which may affect the safety of the machine must be cleared immediately.

2.8. Maintenance, inspection and repair

All maintenance and repair work have to be basically performed with the machine in off
position.
During this the machine has to be secured against unauthorized switching on.

[;S; Prescribed maintenance and inspection work should be performed in time. The DVS gives the
advice of inspection work after 1 year.
For machines with a specially high usage percentage the testing cycle should
be shortened.
The work should be performed at the WIDOS GmbH company or by an authorized partner.

2.9. Dangers caused by electric energy

Only skilled persons are allowed to work at electrical appliances!

o The electrical equipment of the machine has to be checked regularly. Loose connections and damaged
cables have to be replaced immediately.

e If work at alive parts are necessary, a second person has to assist who can disconnect the machine from
the mains if necessary.

e All electric tools (heating element, planer and aggregate) have to be protected from rain and dropping
water (if need be use a welding tent).

e According to VDE 0100, the use on construction sites is only allowed with a power distributor with a RCD
(FI)-safety switch.

2.10. Dangers caused by the hydraulics

System parts and pressure hoses should be depressurized before beginning of any repair
work. Even if the machine is switched off, pressure may be in the hydraulic accumulator!

There is a danger of injuring the eyes by hydraulic oil squirting out.
e Damaged hydraulic hoses have to be immediately replaced.

e Make a visual inspection of the hydraulic hoses before each work beginning.

e The hydraulic oil is inedible!

12.05.15 Working Instructions WIDOS 6113 Page 12 of 67



Safety Rules Chapter 2 OWIDDS

2.11. Specific dangers
2.11.1. Danger of catching clothes by the planer

You can cut yourself or even get bones broken!

e Only wear clothes tight to the body.

e Do not wear rings or jewellery during the work.
e If necessary, wear a hair-net.
e Always put the planer back into the reception box after and before each use.
e Transport the planer at the handle only. Do not touch the surfaces.

e Switch the planer on only for usage. If the planing pressure is too high, there is the danger that the planer
tilts during planing. For that reason do not press the pipe ends stronger than necessary against the planer.
If necessary, hold the planer firmly.

2.11.2. Risk of injury by noise

Noise exceeding 80 dB (A) may occur; during planing it is obligatory to wear ear protection!

2.11.3. Danger of combustion by heating element, reception box and welding area

You can burn yourself, inflammable materials may ignite.

The heating element temperature is heated up to more than 250°C!

Do not touch the surfaces of the heating element.

Do not leave the heating element unsupervised.

Take enough safety distance to inflammable materials.

Do wear safety gloves.

Always put the heating element back into the reception box after and before each use.
e Transport the heating element at the handle only.

2.11.4. Danger of crushing by clamping devices and guideways

There is a danger of serious injuries: on the one hand between the inner clamping devices and

on the other hand between the outer clamping device and the end of the guideway.
upon opening / closing the clamping tools
upon opening / closing the machine.
upon mounting the reducer inserts.
Upon clamping the pipes

e Do not stand or put hands between clamped pipe ends.

e Do not stand or put hands between the inner clamping tools with not yet clamped pipes.

12.05.15 Working Instructions WIDOS 6113 Page 13 of 67



Safety Rules Chapter 2 OWIDDS

e Do not block opening and closing of the machine slides.

e Keep others away from the clamping area.

2.11.5. Danger of stumbling over electric / hydraulic wires

o Make sure that no person has to step over the wires.
e Lay the wires in such a way that the danger is kept to a minimum.

2.12. Structural modifications on the machine

¢ No modifications, extensions or reconstructions may be made on the machine without permission of the
manufacturer. In case of disrespect, the warranty or liability will expire resp. the EC declaration of
conformity will get obsolete.

e Machine parts which are not in a perfect condition are to be replaced immediately.
e Only use original WIDOS spare and wear parts.
o In case of purchase orders please always state the machine number!

2.13. How to clean the machine

The used materials and tissues are to be handled and disposed of properly, especially:
e when cleaning with solvents
e when lubricating with oil and grease

2.14. Warranty and liability

Fundamentally our "General Sales and Delivery Conditions" are valid.
They are at the owner's disposal latest when signing the contract.

Guarantee and liability demands referring to personal injuries or damages on objects are excluded if they are
caused by one or several of the following reasons:

e not using the machine according to the prescriptions.

e inexpert transport, mounting, starting, operating, and maintenance of the machine.
e running the machine with defective or not orderly mounted safety appliances.

e ignoring the information given in this manual.

e structural modifications on the machine without permission.

e unsatisfactory checking of parts of the machine, which are worn out.

e repairs performed in an inexpert way.

¢ In case of catastrophes and force majeure.

12.05.15 Working Instructions WIDOS 6113 Page 14 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬂ
Wilhelm Dommer Sohne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDDS
GmbH website: http://www.widos.de email:  info@widos.de

3. Functional description

Basically, the international and national process guidelines are to be
followed!

The plastic pipes are clamped in the clamping devices.

Then the front sides of the pipes are cut plane and parallel by means of the planer and the misalignment of
the pipes is checked.

The cleaned and heated heating element is inserted and the pipes are pressed against the heating element
under defined adjusting pressure. This process is called "adjusting”.

After the prescribed bead height being reached, pressure is reduced, the heating time begins. The function
of this time is to heat up the pipe ends.

After expiration of the heating time, the slides are opened, the heating element is removed quickly and the
pipes are driven together again. The time gap from the removal of the heating element to joining the pipes is
called change over time.

The pipes are joined under prescribed welding pressure and then cool down under pressure (cooling time).

The welded joint can be unclamped, the welding process is finished.

Heating element heats the pipes
up to welding temperature

TR
WWVAAWAT
X

T

A\

Finished welding with internal
and external bead

12.05.15 Working Instructions WIDOS 6113 Page 15 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬂ
Wilhelm Dommer Sohne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDDS
GmbH website: http://www.widos.de email:  info@widos.de

4. Operating and indicating elements

4.1. Elements on open aggregate (optional)

No. Name Function
1 Push-button - By pressing the push-button the motor switches over to high
speed
2 Valve lever Opening the slides. There are 4 different positions:

- forwards: slides close.

- in the middle (usual position): the pressure which is currently
achieved is kept (also by means of the built-in hydraulic
accumulator)

- Pressure release: (depressurized position):

a possibly existing pressure is released without moving the
slides. Due to the hydraulic accumulator, it takes about 10 s
until the pressure is completely released.

- backwards: slides open

3 Setting screw for pressure - Limitation of the pressure to the desired value.
relief valve

4 Hydraulic conneegeyio] - Non-dropping quick-acting couplings
opening / closing the slides

5 Connecting cable with plug - connection to power supply
CEE-32 A

6 Pressure gauge Display of the hydraulic pressure

1 Screw with oil dipstick - to determine the oil level

- oil filler neck

.;ﬁ‘i‘“ You may run the machine quickly in order to drive the slides back and forth as well as for the
change-over by:

e Pressing <button> (Nr. 1) and <control lever> on ,FORWARDS" or ,BACKWARDS".

In order to carry out planing and for the joining you must select the slow speed:
e With <control lever> on ,,FORWARDS" or ,BACKWARDS" without pressing <button>.

12.05.15 Working Instructions WIDOS 6113 Page 16 of 67



Operating and indicating elements Chapter 4 OWIDDS

4.2. Elements on closed hydraulic aggregate (optional)

No. Name Function
1 Push-button - By pressing the push-button the motor switches over to high speed
2 Valve lever Opening the slides. There are 4 different positions:

- forwards: slides close.

- in the middle (usual position): the pressure which is currently
achieved is kept (also by means of the built-in hydraulic
accumulator)

- Pressure release: (depressurized position):

a possibly existing pressure is released without moving the slides.
Due to the hydraulic accumulator, it takes about 10 s until the
pressure is completely released.

- backwards: slides open

3 Setting screw for pressure - Limitation of the pressure to the desired value.
relief valve

4 Hydraulic connections for

opening / closing the slides - Non-dropping quick-acting couplings

5 Connecting cable with plug - connection to power supply
CEE-32 A
6 Pressure gauge Display of the hydraulic pressure

12.05.15 Working Instructions WIDOS 6113 Page 17 of 67



Operating and indicating elements

Chapter 4

Qwipnos

No. |Name Function

7 Screw with oil dipstick - to determine the oil level

- oil filler neck

8 Socket 230 V - Connection for e.g. SPA 600
9 Socket CEE 16 A - Connection for heating element
10 | Socket CEE 16 A - Connection for planer

11 Cover - Check for oil level

F9 | Circuit breaker B16A - Socket 230 V

F10 | Motor protective 45 —6,3 A | -Hydraulic pump

F20 | Circuit breaker B16A - Socket for heating element
F40 | Circuit breaker K16A - Socket for planer

Q1 Contactor - slow rotational speed

Q2 |Contactor - high speed 1

Q3 |Contactor - high speed 2

.;;S“ You may run the machine quickly in order to drive the slides back and forth as well as for the

12.05.15

change-over by:

o Pressing <button> (Nr. 1) and <control lever> on ,FORWARDS"” or ,BACKWARDS".

In order to carry out planing and for the joining you must select the slow speed:

e With <control lever> on ,FORWARDS" or ,BACKWARDS" without pressing <button>.

Working Instructions WIDOS 6113

Page 18 of 67



Operating and indicating elements Chapter 4 OWIDDS

4.3. Basic machine

18

19

20

No. Denomination / Function
12 Lifting device (optional)

13 Inner clamping ring fixed

14 Outer clamping ring fixed

15 Clamping nut with washer and spindle, for clamping pipes
16 Base frame part 2, removable

17 Puller, separates the heating element and the heated tubes
18 Inner clamping ring movable

19 Outer clamping ring movable

20 Hydraulic hoses, connection with hydraulic aggregate

12.05.15 Working Instructions WIDOS 6113 Page 19 of 67



Operating and indicating elements Chapter 4 OWIDDS

4.3.1. Puller for heating element

There is a puller mounted between the movable and the
fixed clamping shells on the basic machine. It prevents
the heating element from sticking to the heated-up pipe
ends.

When inserting the heating element take care that it lies
in the diminution of the throat of the tear-off bar (see
arrow).

4.4, Elements at planer and heating element

No. Name Function
20 | On/off switch for planer - to switch the planer on/off.
- Switch off the planer after use.
21 | Lever - Lifting facility to put in / lift off the basic machine / the heat-
protected box
22 | Eye and eye with locking bolt | - to lock the planer/ heating element- For holding the planer when

lifting/removing.
- Lever can be screwed off. in basic machine, (In order to remove
the planer, pull locking bolt into arrow direction.

23 | Lifting screw - to lift / insert the heating element / planer with the
lift-off device.
24 | Display of temperature - Digital display of set heating element temperature. Three different

displays are possible.
For meaning of the displays please refer to point 5.6
How to set the heating element temperature

25 | Thermostat - to set the required temperature.

26 | Grips - To hold the heating element when lifting / removing.
The basic machine / protection box

12.05.15 Working Instructions WIDOS 6113 Page 20 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬂ
Wilhelm Dommer Sohne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDDS
GmbH website: http://www.widos.de email:  info@widos.de

5. Starting and operating

The instructions of this chapter are supposed to initiate in the operation of the machine and lead during the
appropriate starting of the machine.

This includes:
- the safe operation of the machine
- using all the possible options of the machine

- economic operation of the machine

5.1. Safety indications

The machine may only be operated by initiated and authorized persons.
For the qualification, a plastic welding exam can be taken according to DVS and DVGW.

In situations of danger for persons and the machine, the mains plug has to be unplugged
immediately.

In case of power failure, there may still be pressure in the hydraulic system.
Therefore release pressure if need be.
After completion of the welding work and during breaks the machine has to be switched off.
Further take care that no unauthorized person has access.
Protect the machine from wetness and humidity!
According to VDE 0100, the use on construction sites is only allowed with a power distributor
with a RCD (Fl)-security protective switch.

[;T.-i—u Check the oil level of the hydraulic system before each starting of the control unit in order to
avoid damages on the pump. The oil level must be between the two marks at the oil dipstick.
If necessary, add hydraulic oil of the quality HLPD 32.

. ; :‘i‘ The heating element surfaces must be clean, especially non greasy, therefore they need to be
cleaned shortly before each welding or in case of dirtiness by means of a fiber-free paper

and a cleaning agent (e.g. PE cleaner or pipe cleaning tissues which are available at the
WIDOS company).

The anti-adhesive coating of the heating element must remain undamaged in the working
area.

[F.,,:.R Take care that all hydraulic and electric connections are connected.

[;w,( W~ Make sure that pump and planer are connected in a way that they turn in right-hand direction.

e Take into account the surrounding conditions:
- The welding may not be performed under direct sun rays influence.
- Use a welding umbrella if necessary.

e |f the surrounding temperature is under 5°C, measures have to be taken:
- Use a welding tent or preheat the pipe ends if necessary.

In addition, take measures against rain, wind and dust.

12.05.15 Working Instructions WIDOS 6113 Page 21 of 67



Starting and Operating Chapter 5 OWIDDS

5.2. Connection of hydraulic aggregate to basic machine

e Put the hydraulic hoses of the basic machine into the quick-action couplings of the hydraulic aggregate in
order to weld (chapter: 4.1no: 10).

With open hydraulic aggregate:
o Connect the mains plug of the planer to local socket, (CEE-16A / 400 V / 50 Hz, right-hand rotary field).
e Connect the mains plug of the heating element to local socket, (CEE-16A / 400 V / 50 Hz).

e Connect the mains plug of hydraulic aggregate to local socket, (CEE-32A / 400 V / 50 Hz Connect the mains
plug of the planer to local socket, (CEE 16A / 400 V / 50 Hz, right-hand rotary field).

With enclosed hydraulic aggregate:
e Connect the mains plug of the planer to the hydraulic aggregate, (CEE-16A / 400 V / 50 Hz).

e Connect the mains plug of the heating element to the hydraulic aggregate, (CEE-16A / 400 V / 50 Hz).

e Connect the mains plug of the enclosed hydraulic aggregate to the local power supply (CEE-32A / 400 V /
50 Hz, right-hand rotary field)

Lay hydraulic and electric wires carefully (danger of stumbling).

[ﬁ Verify whether the hydraulic pump is connected clockwise!

5.3. How to mount the lifting device (optional)

e Detach the suspension bracket on the crane motor, put and fix the bracket to the lifting device with the
bolts and SL clips.

Suspension bracket Holder above

Support below

e Put the lifting device through the upper holder from above and downwards to the lower support.

12.05.15 Working Instructions WIDOS 6113 Page 22 of 67



Starting and Operating Chapter 5 OWIDDS

5.4. How to replace the reduction inserts

Pipes with OD 630 have to be clamped in the basic clamping devices.
e Pipes with 0D 315 - 560 mm will need reducer inserts.
e Unscrew the mounted reduction inserts by means of the provided Allan key.

e Screw the reduction inserts with the corresponding diameter into the clamping devices.

5.5. Remove clamping ring with support

e If necessary (e.g. T-pieces) you may detach the outer fix clamping element.
Detach the four hexagon socket screws for the spacer and detach the 3 x 2 fixing screws of the front
support.

[& Important, do not unscrew the hexagon socket screws!

The hexagon socket screws hold a pressure piece in place within the square pipe by which
both basic frames are fixed.

<«—— 3 - X Base frame

Support

12.05.15 Working Instructions WIDOS 6113 Page 23 of 67



Starting and Operating Chapter 5 OWIDDS

5.6. How to set the heating element temperature

As soon as the heating element is connected to the mains (400 V / 16A), it starts heating up to the desired
temperature. Set the temperature with a screw driver at the adjusting knob.

' . Terminal box with control

Temperature adjusting knob

T Display

@& < ®
3z
———— s

1l

2 2 0 Display: DESIRED temperature + blinking points between the numbers.
oy 4= The heating element is being heated up, the desired temperature is not yet reached. This

display disappears after short time, followed by three lines.

Display: Three lines.
The heating element is being heated up, the desired temperature is not yet reached.

Display: ACTUAL temperature (without blinking points).
1 8 0 Appears as soon as a temperature of > 170°C is reached and rises continuously to

DESIRED temperature. The desired temperature is maintained by a certain pulse-position
ratio.

5.7. Welding process

The respectively valid welding prescriptions (ISO / CEN / DVS...) are to be
basically followed.

There is the danger of serious bruising.
On the one hand between the inner clamping devices, on the other hand between the outer
clamping device and the end of the guide bar.

e Do wear safety gloves as a protection against combustion!
e A stop-watch should be available for recording the actual times for the heating and cooling.

e In the same way a table should be available from which the parameters for the pipe dimensions to be
welded prescribed by the welding prescriptions may be taken from.

o The heating element surfaces are to be clean and, above all, free from grease. Therefore they are to be
cleaned with non-fraying paper and detergent (e.g. PE - cleaner) before every welding or if they are dirty.

The anti-adhesive coating of the heating element has to remain undamaged in the working area.

12.05.15 Working Instructions WIDOS 6113 Page 24 of 67



Starting and Operating Chapter 5 OWIDDS

e Switch on the heating element and adjust the required welding temperature (chapter: 5.6)

e Screw in the reduction inserts according to the outside diameter of the pipes to be welded.

o Put the workpieces into the clamping tools, tighten the clamping nuts tightly and align the workpieces
with respect to one another.
In case of long pipe ends, use WIDOS rollerstands for alignment.

e Close the slide, with <valve lever> on: “forwards”, thereby reading the movement pressure on the
pressure gauge.

The movement pressure is displayed exactly when the slide with the clamped-pipe passes over into its
movement.

Subsequently, open slide again such that the planer fits in-between, with <valve lever> on: “backwards”.

Put the planer between the workpiece ends and let the locking snap in.

Noise exceeding 80 dB (A) may occur; during planing it is obligatory to wear ear protection!

There is the danger that the planer draws in clothes!
Do not hold the planer on its front sides in any case.

If the planing pressure is too high, there is the danger that the planer will get stuck during
planing. If necessary hold tight to the planer.

In case there are too many chips stop planer and remove them.

7

Necessarily take care that no chips will be drawn-in between the planer discs!

o Move the pipe ends towards one another with <valve lever> on: “forwards” and plane same with a
planing pressure between 1 and 15 bar above the movement pressure.

Planing must be carried out until a revolving cutting has been formed on both sides.
o Open the slide again with <valve lever> on: “backwards”, switch off planer motor.
e Unlock planer, remove it and put it into the protective box.
e Remove the produced cuttings without contacting the worked surfaces.
e Close the slide with <valve lever> on: “forwards”.
e Check pipe mismatch and gap on the joining pipe ends.

e According to DVS 2207, the mismatch on the pipe outer side must not exceed 0.1 x pipe wall thickness, the
admissible gap must not exceed 0.5 mm for pipes < 355 mm and 1,0 mm for pipes with 400...< 630 mm.
The mismatch compensation is carried out via further tightening or releasing of the clamping nuts.
In case of a mismatch compensation, planing must be carried out again afterwards.

e The adjustment pressure for the pipe dimension to be welded can be gathered from the table. Add the
movement pressure.
Set the resulting pressure value at the pressure limiter valve and check by actuating the valve lever.

e Open slide again slightly with <valve lever> on: “backwards”.

12.05.15 Working Instructions WIDOS 6113 Page 25 of 67



Starting and Operating Chapter 5 OWIDDS

o Take heating up time, maximum change-over time, cooling down time and bead height for the pipe
dimension to be welded from the table.

e Move the heating element, which has been cleaned and brought to nominal temperature, by means of the
handle upwards between the pipes.

Take care that it lies in the zone of the diminution of the
puller, if required displace the shaft!

e Move pipes to heating element smoothly to the set adjustment pressure with <valve lever> on:
“forwards”.

o When the prescribed revolving bead height has been reached, reduce pressure. For this purpose, move
the valve lever to <Pressure release> until heating up pressure has built up has reduced almost to zero
(< 0,01 N/mm2).

e The heating up time starts now. Press the stop watch and compare the actual time with the nominal time
taken from the table.

o After expiration of the heating up time, open the slide, with <valve lever> on: “backwards” remove the
heating element as quickly as possible, put it into the protective box and close the slide smoothly with
<valve lever> on: “forwards”.

The maximum time frame for this process is predetermined by the value for the change-over time taken
from the table.

e When the welding pressure has been built up, press the stop-watch and keep the <valve lever> for
approximately 10s on the position “forwards” so that the hydraulic accumulator can be filled. During the
cooling down period re-adjust pressure, if necessary (cooling pressure = adjustment pressure).

o After expiration of the cooling down period, release pressure with <valve lever> on: “Pressure release”.

m“ Do not open basic machine!

e Open the clamping rings and remove the welded part.

o Open the slide with <valve lever> on: “backwards”.

The welding process is finished

12.05.15 Working Instructions WIDOS 6113 Page 26 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬂ
Wilhelm Dommer Sohne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDOS
GmbH website: http://www.widos.de email:  info@widos.de

6. Welding log and tables

12.05.15 Working Instructions WIDOS 6113 Page 27 of 67



Qwipnos

Chapter 6

Welding Log and Tables

‘paJlajue aq Jshw senjea painsesw ay| (¢
‘ainssaid Buiuiof pue uonezijenbs BujuisoU0D BuUIYDEW Bulp|am By} Jo JainjoeinUEW By} JO SUOJEDIPUI 8Y) puk ainssald Juswarow ay} Jo wns ay} ale sbuipes ayl (g
7' 01 Buipioooe Aousnbaly ‘[eussjul jewsou wol4 (|

110)0adsul Joplam ay} Jo ainjeulis pue ayeq

11oplam jo ainjeubls

sainseawl
10910ud | Joyjeapn

syleway ‘ou 8pod

Do

alnjeladws)
siquiy

S

(¢ ainssoid
Bujuiof
Japun
awi} Buijoon

(€
auwl} Jono
-abueyn

s s Ieq 1eq
(¢ ainssaid
Buuiof dn-pesq dn-jesy
ajo|dwoo (g swny
0} swi} dn-jeay (z senjen pajsnipe

Ieq 1eq

ainssaid ainssaid
Bujuiop JUBWIBAOA|

Xew / uiw 9,

0
ainjeladwo)
JUEINETE]
Bunesy

SXpgQ
ozIs ‘ou
adig ajeqg | PISM

(puiw pue uel = ¢ "6'9)
:an0qe se sa1nbly sy} mojjo} suolyeubisap o|dijnw jJo aseo ayj u|

Bunesy =
sy =¢
uavI0S = g
auou = |

salnsesW 9AI}09)01d

pum =

|lejmous Jo ujel = ¢

hp=g

Auuns = |

SUONIPUOS IoYBa\

:81InjoBjNUBL JO JBBA
"0U BUIYOE|
:adA

RO=N

‘aulyoew Bulplopn

J10j0adsul Buipjam sy} Jo Auedwos ‘e sweN ‘ou J1epIQ
‘ou Ayusp) 1ap[dm ayj jo sweN S[1} 18pIO
Auedwoo Bunoesuon Jafojdw3g

jo 199ys

[eLpe

punoiBiapun pie7 O

punoiB anoqe pie] O

sjuauodwod Jejngn)
Jo Buipjam aje|d pajesy Jo} poday

Page 28 of 67

Working Instructions WIDOS 6113

12.05.15



Table for PE Qwinos

Foundation: 2207, 2208 DIN 16932 German association for welding
Use for: 6100/ 6100 mobile / 6200 /6111 /6113 /6113 mobile

1 bar on manometer: 173 N

PE 80 The value for heating element temperature is between 200° C - 220° C / 392 °F - 428 °F.
The smaller the pipe wall the higher the temperature.

PE 100 The standard value for heating element temperature is 220 °C / 428 °F.
Increase the change-over time and the welding pressure time at PE 100 as fast as possible !

Additional to the given bead-up force and to the welding force the moving force of the support must be added !

time to
P (N/mm2) change-  reach full
bead-up heat-up over welding |cool-down time
__0,15 (PE) time pressure pressure in
welding area
Tdesired ,,’r ______________________________________________ temperature
s _—in welding area
. time
pipe pipe SDR bead-up [circular  [heat-up  |max. time welding  [cool-
diameter [wall pressure |bead time change- |toreach |[pressure [down
0D (s) [bar] min. [s] over welding  [[bar] time
[mm] [mm] [mm] time pressure [min]
[s] [s] o
315 1,1 41 Ji 15 71 6 6 Ji 1"
9,7 33 9 1,5 97 Ji 1 9 13
12,1 26 10 2 121 8 8 10 16
15,0 21,0 13 2,0 150 9 9 13 19
17,9 17,6 15 2 179 10 1 15 23
18,7 17 16 2 187 10 1" 16 24
23,2 13,6 19 2,5 232 1 13 19 29
28,6 1 23 3 286 13 15 23 35
35,2 9 27 3 352 15 18 27 43
43,1 14 32 3,5 431 18 22 32 92
355 8,7 41 9 1,5 87 Ji 1 9 12
10,9 33 11 1,5 109 8 8 1 15
13,6 26 13 2,0 136 8 9 13 18
16,9 21,0 16 2,0 169 9 10 16 22
20,1 17,6 19 2,5 201 10 11 19 25
21,1 17 20 25 211 1" 12 20 26
26,1 13,6 24 3,0 261 12 14 24 32
32,2 1 29 3,0 322 14 17 29 39
39,7 9 35 3,5 397 17 20 35 43
48,5 14 Y 3,5 485 20 24 41 58

12.05.2015 Working Instructions WIDOS 6100 - 6200 Page 29/ 1 of 67



Table for PE Qwinos

Foundation: 2207, 2208 DIN 16932 German association for welding
Use for: 6100/ 6100 mobile / 6200 /6111 /6113 /6113 mobile

1 bar on manometer: 173 N

PE 80 The value for heating element temperature is between 200° C - 220° C / 392 °F - 428 °F.
The smaller the pipe wall the higher the temperature.

PE 100 The standard value for heating element temperature is 220 °C / 428 °F.
Increase the change-over time and the welding pressure time at PE 100 as fast as possible !

Additional to the given bead-up force and to the welding force the moving force of the support must be added !

time to
P (N/mm2) change-  reach full
bead-up heat-up over welding |cool-down time
__0,15 (PE) time pressure pressure in
welding area
Tdesired ,,’r ______________________________________________ temperature
s _—in welding area
. time
pipe pipe SDR bead-up [circular  [heat-up  |max. time welding  [cool-
diameter [wall pressure |bead time change- |toreach |[pressure [down
0D (s) [bar] min. [s] over welding  [[bar] time
[mm] [mm] [mm] time pressure [min]
[s] [s] o
400 9,8 41 1 1,5 98 Ji 1 " 13
12,3 33 13 2,0 123 8 8 13 16
15,3 26 17 2,0 153 9 9 17 20
19,1 21,0 20 2,5 191 10 11 20 24
22,1 17,6 24 2,5 221 1" 13 24 28
23,7 17 25 25 237 1" 13 25 29
29,4 13,6 30 3,0 294 13 16 30 36
36,3 1 36 3,0 363 16 19 36 44
44,7 9 44 3,5 447 18 23 44 54
54,7 14 52 4,0 547 21 27 92 65
450 11,0 41 14 1,5 110 8 8 14 15
13,8 33 17 2,0 138 9 9 17 18
17,2 26 21 2,0 172 9 10 21 22
21,5 21,0 26 2,5 215 1" 12 26 27
25,5 17,6 30 2,5 255 12 14 30 31
26,7 17 31 3,0 267 12 14 31 33
33,1 13,6 38 3,0 331 15 17 38 40
40,9 1" 46 3,5 409 17 21 46 49
50,3 9 95 4,0 503 20 25 55 60
61,5 14 66 4,0 615 23 31 66 n

12.05.2015 Working Instructions WIDOS 6100 - 6200 Page 29/ 2 of 67



Table for PE Qwinos

Foundation: 2207, 2208 DIN 16932 German association for welding
Use for: 6100/ 6100 mobile / 6200 /6111 /6113 /6113 mobile

1 bar on manometer: 173 N

PE 80 The value for heating element temperature is between 200° C - 220° C / 392 °F - 428 °F.
The smaller the pipe wall the higher the temperature.

PE 100 The standard value for heating element temperature is 220 °C / 428 °F.
Increase the change-over time and the welding pressure time at PE 100 as fast as possible !

Additional to the given bead-up force and to the welding force the moving force of the support must be added !

time to
P (N/mm2) change-  reach full
bead-up heat-up over welding |cool-down time
__0,15 (PE) time pressure pressure in
welding area
Tdesired ,,’r ______________________________________________ temperature
s _—in welding area
. time
pipe pipe SDR bead-up [circular  [heat-up  |max. time welding  [cool-
diameter [wall pressure |bead time change- |toreach |[pressure [down
0D (s) [bar] min. [s] over welding  [[bar] time
[mm] [mm] [mm] time pressure [min]
[s] [s] o
500 12,3 41 17 2,0 123 8 8 17 16
15,3 33 21 2,0 153 9 9 21 20
19,1 26 26 25 191 10 1 26 24
23,9 21,0 31 2,5 239 1 13 31 30
28,4 17,6 37 3,0 284 13 15 37 35
29,7 17 39 3,0 297 13 16 39 36
36,8 13,6 47 3,0 368 16 19 47 45
45,4 1" 57 3,5 454 19 23 57 25
55,8 9 68 4,0 558 21 28 68 66
68,3 14 81 4,0 683 25 34 81 18
560 13,7 41 21 2,0 137 8 9 21 18
17,2 33 26 2,0 172 9 10 26 22
21,4 26 32 25 214 1 12 32 27
26,7 21 39 3,0 267 12 14 39 33
31,7 17,6 46 3,0 317 14 17 46 39
33,2 17 43 3,0 332 15 17 48 41
41,2 13,6 59 3,5 412 17 21 59 50
50,8 1" A 4,0 508 20 25 A 61
62,5 9 85 4,0 625 23 31 85 12

12.05.2015 Working Instructions WIDOS 6100 - 6200 Page 29/ 3 of 67



Table for PE

Qwipnos

Foundation: 2207, 2208 DIN 16932 German association for welding
6100 / 6100 mobile / 6200 /6111 /6113 / 6113 mobile

173 N

The value for heating element temperature is between 200° C - 220° C / 392 °F - 428 °F.
The smaller the pipe wall the higher the temperature.
The standard value for heating element temperature is 220 °C / 428 °F.
Increase the change-over time and the welding pressure time at PE 100 as fast as possible !

Use for:

1 bar on manometer:

PE 80

PE 100

Additional to the given bead-up force and to the welding force the moving force of the support must be added !

time to
P (N/mm2) change-  reach full
T bead-up heat-up over welding |cool-down time
0,15 (PE) time pressure pressure in
welding area
Tdesired ,,’r ________________________________________________ temperature
, ’ in welding area
. time
pipe pipe SDR bead-up [circular  [heat-up  |max. time welding  [cool-
diameter [wall pressure |bead time change- |toreach |[pressure [down
0D (s) [bar] min. [s] over welding  [[bar] time
[mm] [mm] [mm] time pressure [min]
[s] [s] 0
630 15,4 41 26 2,0 154 9 9 26 20
19,3 33 33 25 193 10 11 33 24
241 26 40 25 241 1" 13 40 30
30,0 21 50 3,0 300 16 16 50 37
35,7 17,6 58 3,0 357 13 18 58 43
374 17 61 3,5 374 16 23 61 45
46,3 13,6 74 3,5 463 19 19 74 56
57,2 1" 90 4,0 572 22 29 90 67
70 9 107 4,0 700 25 35 107 80
0 Remaining under the cool-down time for up to 50% is allowed under the following conditions:
® prefabrication under workshop conditions
® |ow additional pressure at unclamping
® no additional pressure during further cooling down
® |oad onto the workpieces only after being completely cooled down
® Join parts with wall thickness >15 mm
12.05.2015 Working Instructions WIDOS 6100 - 6200 Page 29/ 4 of 67



Table for PP Qwipnos

Foundation: 2207, 2208 DIN 16932 German association for welding
Use for: 6100/ 6100 mobile / 6200 / 6111 / 6113 / 6113 mobile

1 bar on manometer: 173 N

The standard value for heating element temperature is 210° C + 10° C / 410 °F + 50 °F.
The smaller the pipe wall the higher the temperature.

Additional to the given bead-up force and to the welding force the moving force of the support must be added !

time to
P (N/mm?) change- reach full
bead-up heat-up over welding |cool-down time
__0,10 (PP) time pressure pressure in
welding area
Tdesired e B AR LY temperature
}n welding area
time
pipe pipe SDR bead-up |[circular heat-up max. time welding cool-
diameter [wall pressure |bead time change- |[to reach |pressure |[down
oD (s) [bar] min. [s] over welding |[bar] time
[mm] [mm] [mm] time pressure [min]
[s] [s] O
315 1,7 41 5 1,0 185 6 8 5 13
9,7 33 6 1,0 213 7 9 6 16
12,1 26 7 1,0 246 7 1" 7 20
17,9 17,6 10 1,0 317 9 16 10 28
28,6 1 15 2,0 420 12 24 15 44
355 8,7 41 6 1,0 199 6 8 6 15
10,9 33 7 1,0 230 7 10 7 18
13,6 26 9 1,0 264 7 12 9 22
20,1 17,6 13 1,5 341 9 18 13 32
32,2 1" 19 2,0 448 13 28 19 48
400 9,8 41 7 1,0 214 Ji 9 7 16
12,3 33 9 1,0 249 7 1 9 20
15,3 26 1 1,0 221 7 10 1 17
22,7 17,6 16 1,5 367 10 20 16 35
36,3 1" 24 2,0 480 14 31 24 54
450 11,0 41 9 1,0 231 7 10 9 18
13,8 33 1 1,0 267 8 13 1" 23
17,2 26 14 1,0 308 8 15 14 27
25,5 17,6 20 1,5 395 11 22 20 39
40,9 1" 31 2,5 508 15 35 31 59
500 12,3 41 1" 1,0 249 Ji 1 1" 20
15,3 33 14 1,0 285 8 14 14 25
19,1 26 17 1,5 331 9 17 17 30
28,4 17,6 25 2,0 419 12 24 25 43

12.05.2015 Working instructions WIDOS 6100 - 6200 Page 30 /1 of 67



Table for PP

Qwipnos

Foundation: 2207, 2208 DIN 16932 German association for welding
6100 / 6100 mobile / 6200 / 6111 / 6113 / 6113 mobile

173 N

Use for:

1 bar on manometer:

The standard value for heating element temperature is 210° C + 10° C / 410 °F + 50 °F.
The smaller the pipe wall the higher the temperature.

Additional to the given bead-up force and to the welding force the moving force of the support must be added !

time to
P (N/mm?) change- reach full
T bead-up heat-up over welding |cool-down time
0,10 (PP) time pressure pressure in
welding area
Tdesired /" --------------------------------- B ARREEE B temperature
, in welding area
- time
pipe pipe SDR bead-up |[circular heat-up max. time welding cool-
diameter [wall pressure |bead time change- |[to reach |pressure |[down
oD (s) [bar] min. [s] over welding |[bar] time
[mm] [mm] [mm] time pressure [min]
[s] [s] O
560 13,7 41 14 1,0 266 7 12 14 22
17,2 33 17 1,0 308 8 15 17 27
214 26 21 1,5 354 10 19 21 33
31,7 17,6 31 2,0 444 13 27 31 48
630 15,4 41 18 1,0 286 8 14 18 25
19,3 33 22 1,5 333 9 17 22 30
241 26 27 1,5 381 10 21 27 37
35,7 17,6 39 2,0 475 14 31 39 53
0 Remaining under the cool-down time for up to 50% is allowed under the following conditions:
® prefabrication under workshop conditions
® |ow additional pressure at unclamping
® no additional pressure during further cooling down
® |oad onto the workpieces only after being completely cooled down
® Join parts with wall thickness >15 mm
12.05.2015 Working instructions WIDOS 6100 - 6200 Page 30 /2 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0
Wilhelm Dommer Sohne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40
GmbH website: http://www.widos.de email:  info@widos.de

Qwipnos

7. Maintenance and repair

Goal of the chapter is:

o Keeping the nominal state and the operation capacity of the machine.
e Increasing the efficiency by avoiding non-planned outage.

o Efficient planning of the maintenance work and the maintenance tools.

7.1. Maintenance and inspection, repair

All maintenance and repair work have to be basically performed with the machine in off

position.

During this the machine has to be secured against unauthorized switching on.

..L;‘? Prescribed maintenance and inspection work should be performed in time.

The DVS gives the advice of inspection work after 1 year.

For machines with a specially high usage percentage the testing cycle should be shortened.

The work should be performed at the WIDOS GmbH company or by an authorized partner.

7.2. How to check the hydraulic oil level

e  Prior to each starting of the machine check oil level of the hydraulic unit in order to avoid damages.

Only the closed hydraulic aggregate (optional): Remove the cover of the hydraulic aggregate.

e Remove the red cover with integrated oil dip stick from the rear of the hydraulic unit.
e Detach the cap (with integrated oil dipstick) of the filler neck of the hydraulic tank.

e C(lean the oil dipstick with a dry tissue and insert it again in the tank by screwing.

e Remove the oil dipstick again and check the oil level.

e  The oil level must be between the two marks. Please use the hydraulic oil of the quality HLPD 32.

o |f the oil level is under the lower mark, then hydraulic oil of the quality HLDP 32 must be added.

e The oil level may not be above the upper mark since otherwise there is the danger of spilling in certain

situations.

e Having completed all work shut the cap again tightly.

e Do not tilt the hydraulic unit since the cap of the tank is not 100% sealed and oil may leak.

12.05.15 Working Instructions WIDOS 6113

Page 31 of 67



Maintenance and repair Chapter 7 QWIDDS

7.3. Used hydraulic oil

;=" 0nly use HLPD 32

Features: protection against corrosion, resistance to ageing, abrasion-reducing additives,
high carrying capacity and particularly water binding.

The hydraulic oil has to be disposed of properly.

7.4. How to vent the hydraulic cylinders

o Venting the hydraulic cylinder is not required, if

o the hoses have been disconnected from the quick-action couplings at the control unit because the
remaining oil in the hose is being kept by valves and for this reason no air can enter.

e The hydraulic cylinder must be vented if
there has been too less oil in the tank and air has been attracted.
there were leaky spots at the hoses or in the connections.
the hoses were unscrewed from the basic machine.

o Eliminate the cause of the air entrance.

e Open the machine completely, with <valve lever> on: “backwards”.

e First unscrew the lower ,vent screw (Z1) for closing”(left-hand side).

o Connect the transparent venting hose and insert it in the collecting vessel of the aggregate.

o Close machine with <valve lever> on: “forwards” until there is no more air visible in the venting hose.
e Tighten the venting screw (Z1) again.

e Close the machine completely with <valve lever> on:"forwards”.

o Unscrew the lower ,venting screw (A1) for opening”(right-hand side).

o Connect the transparent venting hose and insert it in the collecting vessel of the aggregate.

e Press the <valve lever> to “backwards” drive the carriage together until there is no air visible in the
venting hose.

e Afterwards tighten the screw (A1) again.

12.05.15 Working Instructions WIDOS 6113 Page 32 of 67



Maintenance and repair Chapter 7 OWIDDS

o When the venting process at the lower vent screws is completed, repeat the process at the upper ,vent
screw (Z2) for closing”(left-hand side), as well as at the upper ,vent screw (A2) for opening”(right-hand
side).

The lower vent screws always have to be vented at first because there is a direct connection
between the upper and the lower cylinders.

o If air remains in the lower cylinder, it will ascend in the upper cylinder when pressure is
applied.

e Make sure, there must always be enough oil in the tank.

71.5. Planer

Check the stress of the drive chain in the planer and grease it regularly. The cover of the planer can be
screwed off by means of the provided socket spanner.

Do not lay the planer on its blades.

Check the blades of the planer for sharpness, turn them if necessary (grinded on both sides, max.
thickness of the shavings: 0, 2 mm!).

7.6. Storage

The cylindrical waves of the basic machine are to be kept free from dirtiness and need to be covered with
a thin oil film if they are not being used.
Store dry.

7.7. Clamping elements

For a long service life clean and grease regularly the threaded spindles and the joint parts which are
used for clamping the pipes.

7.8. Lifting device (optional)

Check the lifting device according to the inspection and service plan of ABUS Co. (working instructions is
included).

7.9. Disposal

[@ At the end of the life time, the machine has to be disposed of properly, non-polluting and
* in accordance with the national laws of waste disposal.

12.05.15 Working Instructions WIDOS 6113 Page 33 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬂ
Wilhelm Dommer Séhne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDDS
GmbH website: http://www.widos.de email:  info@widos.de

8. Transport

The machine can be transported in two transport boxes or in one packing box.

One transport box contains the basic machine, the aggregate and the reception box with planer and heating

element, the other box contains the reduction inserts.

e In each box holders are included which are suitable for each single component in order to avoid slipping.
- Put the components into the box in such a way that they fit into the holders.

e The hydraulic hoses at the basic machine should not be unscrewed (air penetration).
- Make sure that they are not squeezed.

e Handle the machine carefully.
- Do not tilt the aggregate too much. Otherwise there is the danger that oil may come out.
- Protect the machine from heavy shocks.
- Make sure that the box cover is closed correctly.

e During the construction of the transport box a stress was put on a light-weight construction.
- Take much care when using automatic handling and carrying machines.

.; *? During the transport of the machine there may be cold

weldings between the piston rod and the eyes of the planer
housing. These spots on the piston rod may damage the
sealing.

Therefore the eyes must be lubricated with PTFE spray before each transport!

For machines with lifting device (option).
e Lift the lifting device out of the holder from above for a transport.

o If necessary disconnect the crane motor from the crane mast by demounting the suspension bracket on
the crane motor.

Suspension bracket

Crane mast

12.05.15 Working Instructions WIDOS 6113 Page 34 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0 ﬂ
Wilhelm Dommer Sohne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 (JWIDDS
GmbH website: http://www.widos.de email:  info@widos.de

9. Hydraulic and electric diagrams

5
Bl

Blatt

HYDRAULIK

Zeichnungsnr.

55_61

5500 + 6100 man

Projektbez.
Auftragsnr.

5

w100

~-
A B
=4 ><
- (@)
— P T
©
= L
S E
. o o
O
*+
' [
| .
El =
. S| =
| ‘ 2
o~
. =
| E
o| o
[@N] ' -
N &
3]
‘ o o &
‘ -
- ®
[@N £
S
| . Iy Lm0 ! 2
S
E]
o
a
c
9
@
s
e
o|a| 0|9
121303526 HBunbiwysusg usydlIUYIS Jouasun Hul Jnu aqobiapsp Japo uaisidoy

12.05.15 Working Instructions WIDOS 6113 Page 35 of 67



Qwipnos

Chapter 9

Hydraulic and electric diagrams

Electric diagrams with hydraulic aggregate closed

9.1.

§ o i ZLOT OO L9 00000

| el Jaquny Buisoip Jagwnu qop
] LN paE

201 + WELIG I/ A 00LS A

MHO00 = uopoublieap jzafe.d

WETT9 M/ W 0079 A

WIRISRIPp INOIID

| FHOT e 90 WEE% yeloud
FLILLIED jund jo spop
= : 1EaUs JdBACD — :Emzmwmm £ B
WELLGM/WODLEN  [7r70ss g | 00000 UoiES|LULIOD
2170l 210(]
B s1@als Jo Jaquinu
RETIOM,/HO0T9A 2d4} suryoew

totyeudisap jo2loxd

aprsopum s / /1oy

0v=6266 / 2612 {0) Gp+ xod
0-6V66 / Gl (0} B+ il
usbuizg 6714 -q

G @SSOJsUIEsUg

ABejouyos] Buippm wgsnd
HMYIREMYDSILOIEIEUNY

Hquty) S0dIum

‘pemo|b uciEsiuad UeLM Und yia Aluoe ue Buisspd Jo Buiddon

Page 36 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

sabuDyD |DoIYas) o} Joslgns

— ZLOETINDO LM = Eipioz won 9o smors pefoud
0T+ Jaquny Bumolp SMUIUOD 10 3|00 T 3 F111°90 jund o =3op
NELI9 M/ W 001D i T ] p|? R e
a0 = uonoubisap joaloud o | uowsiybroap| swnu | &b uoislasd Loood HnERLa
e
=
2
2
=
g
s
=
z
2
=
E
2.
nmﬂv
g
£l s LO[dLS L] FOO] LSHK—LOOT+ISNIL= LOg NY 1408 G
£l al’s LD] LSS FIO] PX—= OSSN L= [a]e]! N 1dLe d
FANANS Uo|dnpDjucas SIS Nl ond HoniosuUon brd [#) s 7
C1 %06 UD[JIND[UIoAS F001 TUSUIS[E PUNDey ] 15 3
Ll ey LB 3INBUOS FOO] EE 4SUB[d ¥ BB, )
2L 0GL OB dnoDjucas [ESIeX] pesds UONBINWWCD giM siohedbRn oNnodpAig C s ¥
Ll eyl UBINB[MONS FOO] bulpas] z o3 &
ElEOBL 2151 SYISLRIG FOO] Sjusiuon 1O =19k L AQd <
FA AN 1Yz isdagrsjoyu) OO jg=ys J13ALD G n+o0ad L
Gy [EpoL asn)d uanoj sy uolpduasag PRI uano||msul 19815

Page 37 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

SEDUDID [DOIIUDE] 0} 108TTE

T AT AT = S piog hon g smps josfoud
Jaqiuny bumpip @Eumﬂ B F1IOLL90 jund e ajop
1207 + NOELLG \ W o0olo T m”,“a N g Sj@sys 4o Jaguinu
L5H = uonoubisap yoaloud o | uowsiybroap| swou | aing [T Looon HEESILL LD
For =410
IH 09
A OO
ML
apbolbbo oynoupAy Buipsa)
T
L S T S S T
d._.N_T |
[mal Lo BJ| —
azlaEE
g whin
] R=Ri==g=o|=g
= g mm muw
2 3 |
2 |
_
k]
T I Srrzz |
el dwwww dwwww dMMMH _ au|| Addns
T Lo NSy Lo 0445 4-Nd LO0H
& i SNERENE RGN o e 2 e
M& T T 1_\ TTT T 1_\ 'TT i 1_\ TTT rhv/q_/.b == ﬁ?ﬁ
Z=ER=|5
_ _ _ i
_ _ | _
_ _ | _
| | | |
_ _ _ _
_ _ | drund—annoupiy
i doyoajcad Jojowl _
ADCT jeqaos Bnpd _ Jaupyd 3aya0s Bnyd _ jusajz bunoay jeyo0s Bnyd _ YES-GF |
3sn4 _ R _ asny ¥ ﬁwwm _ <! .
+ LGl HoH ¥3DI o Y91 |
64 _ /m o4 _ /N 0z4 _ X |
] K | EEE |
- _ _ _ _
=
_ _ _ _
) _ _ _ _
S,/ 3d| o o o > o
. B L= S D L e A I O I Zdd_ el e ¥3d I S s = o]
/N (3N ZN N L LN LK

pemo|b ucissiled uspLM Ino yum Aue ue buissod do Buiddon

Page 38 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

SEDUDID [DOIIUDE] 0} 108TTE

e ZLOETINDO | O = Elviog on g0 smpgs efous
Ioquiny BUIADIp paads uonoinuiwod yua =1obasBfe cynoapdy s ¥1'1 190 uud je ayop
1207 + NELLS \ W o00lo T mwum M I S]8aYs 4o Jaquinu
L5H = uonoubisap yoaloud o gy | upwsiybnoap| swiou | ayng uolsiAsd £oood HRERILLILIGS
WIS /2
W/c G
paads 180 Ludd 150 widi ihe|s uidd ZHOGS ADCH
Anjal 7 J0yanU0z | 4013EIU03 J013DU02 dund—annapdy 1
5 L\,ﬂmﬁ "z #nm Vo Ea .rﬂm
"l 25T Pl P
c C i s o
) 1 2 1 ¢ 3 A \q.__..; zm/ T
AL
zZn I
oL
_| - ﬂ ||||| w ||||| ﬂ ||||| 1 dwnd-oynoipAy
_ O'led 4-NH LOH
_ DI0OTHT 0dv 20T ST wg
2| TeE T | -Bb OLe -3 0l CW —BE DLe OLm 1M ]
| 24 o] [4d} LO e ofin | el =
e v v 32
_ JELTRTL
_ 7 10j30jUu00
zz) o
| NN I8y
_ !
hofs W 160} Ludy
_ 10}20L0D | DU
_ zz) v zz) o
Lo NN [l a0} Wl 1504 widd Hojs i)
_ | L | Iojaruas 7 Iojanjuog 10100300
pasds ¥ g al+lzl o alrlzl
_ ZLl Aoja Yo, 2D <o Y LD
‘ ¢ glefl glell 1
| N )
| paads 4
_ 4| uopng yend zz| [00ds anDa
s ©5 o o1s
| o™
Lz
_
| g7 FTx
_
L i e i €72/ 3ddH
|||||||||||||||||||||||||||||||||||||||||||||||| —£Z/ NdH 4
"2/ TdH
————¢Z/ZdH
02/ LdH
o L 9 G ¥ & X

pema|n ucissidad usplm Ino UM Aluc ue bulssod Jo Buddon

Page 39 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

SEDUDID [DOIIUDE] 0} 108TTE

-+ - £ —
LOC WDOT M
JeqInU J2als
07+ Jaquun Buimoip YdS \ E:o_a
S = HOCLLg /W 0019 M
_ uonoubisap yoaloud
(uonde)
DHBIP
wm:ow ainssaid
J30npsuDly arseald 13205 Enid-yys
+'a/
1B9052-0 d Y. )
FWHZ-0 o9 m=r
| f
Nl W
- |
f
f
f
f
f
f
f
f
f
f f
7 f
4 Lz |
E1 |
&
f f
7 f
f f
| | y
© © 18'¢/3d
e3d” || Z3d ,
e —AzZ/N
N LY 2N L R
o L 9 G

o

! w FI0Z AeN g0 SMo)s jesfoud
P ] FLLLE0 juud o ajop
FANAS ey D 3 5}23ys 4o Jaguwnu
1 | uwsiBnoap| sweu | ayng LoIsIAgd Coooo UGIEEILULLIES
S|
¥ie
ZHOG ADDY
Jaunid
o
TITTDTOTD
mE LN =
BN
T b
AT oew 22299
W
EWMM f
|/0 Jaund |
W+ 2 OFh 7 1suyd o5 Bryd
o L'g/f
T + OPSX
145 EEdwisi=
1aunjd
Cle I-NY LOH
W
i Oy
el ozl
gor ) cC|x|3
ki

pema|n ucissidad usplm Ino UM Aluc ue bulssod Jo Buddon

Page 40 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

SEDUDID [DOIIUDE] 0} 108TTE

Chapter 9

Hydraulic and electric diagrams

sttt ! - P O smojs joefoud
il s e zc@oég uswae Bupos £ Th e Mg e e
0T + LBqluy DUAoP \ 12 DUAD3Y m o5 Qw;:% %ETD wmﬂhgm
5N = FCELI9 /W O01S i ELROE! 20 ® | soooo UDSELULIGS
- uonoubiszp aloud o 4y | upwsiybnoap| swibu | a3ng uaisisad il
Juawaja bunpay Y92 ADOY, AA'S
AD[3) 1C10NPUOI—11U3S wawaz Bunnay 1
v Nm\_\w
£ Nm\_\ﬂm z_
Ca T w mZomE
PRy
N
TELEL
Q05dLESY i
07D 7 %ME\% Buoay j900s
T LAJ 025X i
C e el
=} '
o 7 z T y |
= = A0y MOF ACDE 7
= 5 Mongl HOCLZ MOOZE |
2 = & €3 z3 13 7
o =t rw L L 1 |
= = f
o [=]
- npnb d ||
= 53 uenoinbss ainjouedus] |
- @
£ 2 = ] i B
juaap Buneay
juswala Bunoay 7 Gle& A-NY L0H
o TP ADjal Jc}onpuoI—|Wwas m
\ hso7 |- — - zo| o za| o Tv| o ey 0T 1
o oz erav) Tt m_m% Z|3
¥ o4 v b La Ly i
b1oo ! 7
5000 4 i
N N — — |
=21
3dD3P3P T—— _
) e 0z _ |
L | e o _ ]

Page 41 of 67

pemo|b Ucissidad uspUM Ino ypm Ajuc ue buisspdEie Buiddon
Working Instructions WIDOS 6113

12.05.15



Qwipnos

Page 42 of 67

sbUDYD |DOILYE] o) Joslgns

Chapter 9

Hydraulic and electric diagrams

-+ - g — 4] . -
L0 RO L9M +loz oW tgp smyos joeloud
EF_:M%_D__“ 15qunL Bumalp finid \ uanzauuoy bnid m== : uw“m M FLLL90 jund o =op
— e 5 S]8aYE JO Jagquinu
LK = e %:%Eﬂﬁ%@%»@?%; o mfma,um” %Emzm%sw BUiDU | 8y EEREY > £0000 e ]
¥91—330
ZH 05*%
A 0CY
i 6'c
swap bunnesy 1eyoos bnd
¥91—330
ZH 05‘%
A U0y
Gl
Jaupyd 18008 Bnd
HOW g | Y LIATEE
HOG RO OB IH nCtE
rosz (o & o A 00F
XDW MO09E Wi 1L
1308 Bnd—ydqs BSX 310024660 oynupAy Buipas)
B L 9 e v 3 ¢ |

pemon ucissiubed uspUm Ino uypm Auc ue Buissod ae bulAdon
Working Instructions WIDOS 6113

12.05.15



- -

]

TR s

FICT +

2LOTT DT LG

Jaquinu Buimoip

Qwipnos

Wy ldle =

L= L0+ ISNIL=
WCLLO M/ W 001G i

uanoubisap yaloud

50(]

b 0N fid
o e 7
[ DLE.__‘m_D juud o sjop
ZLT0sE e o B S}98Ys JO Jaquinu
: e NEEEE] £oooo UGISEIULICS

SADUDYD pOIUDa} o} Joslqns

Chapter 9

Hydraulic and electric diagrams

¥3d e 7 EFET] ELm) duind —inoapdy
Jaupjd  jenses fBnjd ey | ©d NI 401d EL) (uondoy  ybip  ebnofi sinssa
owss Bunpay  axsos Brd 3d0zsk | 23 » ¥7 97 465X jea0s B —ydg
apobasffic apnoupAy  Buipaay EL ) EFS e o 7707 EFEN Buisncy
N s 7z 0 Mols Wi Jojonjued
ToUDd Jape0s bnjd WSK | eN 4 07 97 Z0ld 7 [Uondoy  [oEp  ebnbE adnssa
paukja Bunpsy  Jey30s Bnjd MOISE | ¢ * ¥ 0% NGBS iep0s Bid —ydg
syobalfin agnmphy  Buipas) il [HES ] [ e
[ o [ c1Es paads  Uoyng ysnd
D) Wdl | Jejouco [ d) I & cr T01S joods aajph
ZF |z 2 g FIE=
* 3 uoljaaunoa o — = k: E=
®A.OC .- g UOQE30) + UONO)|CIS) = % Jadwn] & % [l v_..N,Lm_._a:a_E_mc,_ = = o l=|x B.OC
%, ¢ S R
Tz 5| 2 AEHEE
A oy = 7 e
M “ =} = 4 .mv. W_
=151 o in
. LX=1D0THISNIL= jpuiizy dus T
E1E 5|5

d

Page 43 of 67

pemd|n Ucissilad usyla Uno yym Ajuc ue Buissod o buiddon
Working Instructions WIDOS 6113

12.05.15



Qwipnos

SEDUDID [DOIIUDE] 0} 108TTE

Chapter 9

Hydraulic and electric diagrams

T ZLOZ DO i :
1. Jaquinu Buoip SE=1 2071+ ISNI= m = (T8 q
TR MoELS M/ W oolg W A o
B uonoubisap yoaloud o upwspbnoap | suwiou | aypg uolsiAsd
SAUE 40X [ 3d iy
nq FHLX M e
. b gdd | [
. Hq coid | &1 I'e
jo| Buipay  jeyaos fnd  esng g 20 H e
ZF |z o s g g
@#OC |z m co._ﬁw_w___w_mwa_.xa_f.‘m:n_za:ﬁmc,_ = % —— 1%0 :o__ﬁwnw__w_wwo_.%m_._n_za:u«mc_ mﬁv .
gz | & 2 & | 2
28| 3 s ¢ =S
LE% 2 4 < S = F3
Eg |7 s
. LSX—LO0THISNIL= uonosuuoo bnid x
5B g

Page 44 of 67

pema|n ucissidad uaplm Ino UM Aluc ue bulssod Jo Buddon
Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

Electric diagrams with hydraulic aggregate open

9.2.

il FLOZTO-WOO LG 00000
JaE ungenugue Jagquiny Buimolp Jagunu gor
B A

T 1 pauzdo 2jpbaubbo oinoipAy — W o¥NLG M

(1HO00 = usipufizap j3afcd

™R vEN.Suz el
= —: JBaYS UBACD 307 m— Han
| ubwsyybnoop
WM [T | D000
FLLEE0 810(]
8 sje8ys o Jequinu
XXTOM 2d£y suryoewr

pauado ojedoudde onedpAy — W XYI9 4

weJseip 1INoJII0

uotjeudisop joolouad

Bp-sapIM main //1dyy

Ov—6CE6 [/ ZGLL (0) aF+ g
0-6£66 / 2G1Ls (0) 6F+ TIAL
usbuizyg +5214-Q

G 9SSOUISLIEIELI]

ABojouyoz] Buppm sl
APOIRIEMYISIJ0ISISUNY

Hqur) S0dIm

00

‘pemol|p ucisgilied uapLm Uno yia Auc ue Buissod Je Buidon

Page 45 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

SabUDYD [DIDS} oF Joelqns

I 7107 0- 001 944 i Edvioz oy g0 smogs yoofoud

Jaquun Buimolp 5]UBIU0 |0 B|q0] s FLLG0 juud jo ajop

HGT + i 1 g S}=als Jo Jsquinu

pauade a10bauBbn SynoUpAY — W OWKY1D M ¥ e ) sonie

4000 = uanpublsap pafoud o uewspybnoup| sweu | eayng IR £onon s

4 30 UB[dUSLILUS Y PO X LDO+ISN L= (aleg NYIdLE g
r G0 UR[dMDUIoas FOCT pnd Uajosuuos brd 3 15 /
P B0 UB|dyNoiIong P juslWss bunbely &) S 9
P S0 UB[ANDILICS OO Jeund i S 5]
r BN EEIE RS Lo PESdE UONBINWIUICT 3 S]0DaJ0bD  QINDIPAL £ 15 T
r G0 U NDUIoAS Lo SIPLSIO0E ONBJpAY DUIpSS) z 15 T
i 30 S8 3YISLPID PO SUROD O 3|gD] L [Apilele Z
r 80 1421845903 P YU FOC 188Ys 19Aba 8] (140a0 L
ajeq [#paLL aan|d uonojmsy| uoidiasag JU-}8als LOILD||DyS Ul JEEIT

pemo||D Usigsiued UaLM N0 WM Aluc ue Busspd Jo Bulidon

Page 46 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

SaDUDYD [DIOT} of Jo8lgns

Chapter 9

Hydraulic and electric diagrams

Ty 71020~ WO0 L9 e Edvioz son g0 smogs oefoud
Jaquny Bumeap Eoﬁ.um:mm_u o_‘_:EPE mc_umﬂ = #1090 juud jo sjop
K+ A 9 3 5]33Us Jo Jagunu
=T pausde 810bsUBBD SnDUpAY — W WX1O W PTENED g B oyl
B vannubizap palod o 4y | uelsyBnoap| swieu | aypg LglalAsd o
F=14
ZH 05
A 00F
,,._w\,x i
s10b216B0 anmpAy |
4
e T T . T T i |
m L) 12 =
wreEEE
BEEEEE
= 1T
& 2 _Mm [=af =g
z EReE
5] |
2. |
f
% LT AT 7
M 1T T™ 7 au)| Aiddns
ey S1aG J-Nd 0N
= o O O7 G G 7 i
34~ O ey NN LM
1_\ vl .qi,b oo
Fis = =l
_ E
| |
¢ 7
L 7
| |
| |
| |
| |
- _ 7
F3d " IX B T .mm.n_on“T.. il : £ .Emocﬁf
AT I LN

Page 47 of 67

pema|n Uclssiludad usylm Uno s Aluc ue Buissod Jo buidon
Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

SabUDYD [DIDS} oF Joelqns

I 7107 0- 001 944 i Bivioz son 90 smogs yoefoud
T Jaquny Bumop pasds uonojnwiwoa yiw spbaabbo synoapdy m : = Hoviva jund o aop
5laalys Jo Jaquinu
e pausdo a10BauBBD SYNDIPAY — B ¥XIG M RN e b m%% L
- uanpublsap pafoud o 4y | ubuwspbnoup | sl | 2yng uolsinad o
o
paads 150} wid 1504 wdi ez widi ZHNG ADOF
Djad Hlepeloitiife Hlatel) Vlake} BloTkelalNla'e! wnd—21noJ ]
1 dund—zx i1
5 Ly Yz #m P _::m £ a ._Jnm
Tl 23 P P
T E . ——
5T EaTs Pt =
R Frin ey LI
Yy SR
zZn I
OLW
_| | ﬂ' ||||| %' ||||| ﬁ' ||||| 1 dwnd-mnopAy
C'lal A=Hd ZOH
90T 0T T T g
o T | 8L ke 281 e N<_ <AL DLLe i
_ Z o zo LD o Ml O HA gl ]
A g g 2
_ 180} Wi
_ 7 doyanuod
7z o
| w c0
_ L
wop wdl 180} wids
_ 101007000 | AU
_ zz) + 7z) g
Lo % cn 150) Wil 180) L Mops Wil
_ L l i | Jojonyuod 7 Jdoponjuen 1020300
paars ¥zl & slrlzl o glvlzl &
| Ll o e e Y LD
_ £ gl gt slg|tL .
_ LL ZH
| pesds J
_ 41| uopng yend zz| [eods aapa
e O To s
_ ol A9
Lz
_
| 71X X
L = : : 1t 1€/ 3ddH
|||||||||||||||||||||||||||||||||||||||||||||||| —E€ T/ HdH
27/ T
€7/ 7dH
—————————¢'Z/laH

pemo||D Usigsiued UaLM 1IN0 WM Aluc ue Busspd Jo Bulidon

Page 48 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

SaDUDYD [DIOT} of Jo8lgns

- - [

TR s

L0 +

yI0ZT D—INDO | 34

Jaquny Bumoip

1SN =

= Blyioz on g0 smogs yosfoud
Asupd m: : w,_m M RTR: jund jo aop
Slaays Jo Jaqunu
pausde a0bauBbo slnoIpAy — W o KX19 M o (NS =el D w%% B r_u,c_mm_rmES
vannubizap palod 4y | uelsyBnoap| swieu | aypg LglalAsd o
; F=14
Exm L ZH 05
¥/¢ A 00F
ZHOS ADDY el ¢
Jaunid Jaupd 1
L9/
7 g0 S8 B o T TR i
T1 D¥SX
=
m L) 12 =
' GEE
A8 Dby o
V f!s_m\ 2 =g =gl =g
et B oy 2, |22
| JN.. =
I/q 4eupd &
o 4 2 C¥D =
=" ]
Jaup|d
lak 4-HY ZOH
W
T OFM ]
u 2N k=N k=
rM c|=|=
(vl

pema|n Uclssiludad usylm Uno s Aluc ue Buissod Jo buidon

Page 49 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

S3BUDLD [BOIYDE} oy Jodiane

il ! n- 2 e snyojs yesloud
St s ot zo%_ﬁ@\_} uswale buijos 10 A e
1907 + QI Sunne ! 19 Doy m P g|pHiHe sjas W a wm L:m
= pauado e10besBED SynDIpAY — W XX 19 M 7 a0 b wSS i o v
B uajoubisap jaloud o upwsiyBroap| swieu | sypg Uaolslasd o
RN EEN,
4 09
_ il oow
juaws|a buncay Y972 ADOF MG M1 B
Anjal Jo1onpuCI—1as swza bunpay Juswap Buosy ]
e =
M, @)1 InNaNaNAl )_UM\WX
73 [E:] i
AT W m Nam e
welEEE
EEEEE
e _M_J oo
& mm = E
(105d1EGY 3 e
3 |
0zZ0 2. |
- _
& @ z z z |
5 g g Ao A
== Mogas MoeLz #002E _
& 5 8 | 3 zZ3 13 _
g T2 | _ : ﬁ _
(9]
3 2 o 7 _
= 5 5 ucipinbe alnjosedws
s g2 | |
=
= |
=" 11 1 l _ s Buneay
11 7 JuawWa= m:._:._umr_ Cle 4=NY S0H
o ')
oy T ADj8l Jo}onpuod—was _ "
pso] - — zo| o z8| o zv| o S 1 OTM, 1
oy 0zZh 0zl 0zh SRS
¥ (19 v [s] L4 LY @ _
5109 _
SO0 34
N N — — — _
2ol
m&@ua@ma@ 15340 summaduia @ m 11 _ “
4 07 _
L | o S e e s — e R R S =5 |

pemo||b Uclasilied usjium Ino yum Alue uo Bulssod Jo Buisdon

Page 50 of 67

Working Instructions WIDOS 6113

12.05.15



Qwipnos

SaDUDYD [DILDF} of Jo8lgns

Chapter 9

Hydraulic and electric diagrams

-+ - g —
FLOL OGO 2M
Eﬁ%__w Bid / uonosuuos Bnid
pausde 2a10BbeaBBD 2nbupdy — W WY 19 A
15HI = uoinubisap yafoud
g G

p

(] )

o2 q

p S 5 S}@3ys 4O Jaguwnu

g | uewsybnoup| swicu | osing USIgIAS

¥9l-33)

H 05°Y
A 00F
W 8's

2wz buipay

¥91—330
ZH 05
A 00F

¥ 2
Jauppd

¥al-330
IH 0Gre
A 00F

VM 97
ajebaubho yneapdy

Page 51 of 67

‘pema|n Uclssilad usyUm Uno ypm Aluc ue Buissod Jo Budon

Working Instructions WIDOS 6113

12.05.15



Qwipnos

Chapter 9

Hydraulic and electric diagrams

SaDUDYD [DIDT} of Jo8lgns

R T 710270~ W0 LB P Elyioz wo g0 smoys yefd
T sequiny_Buoup IX= 1307+ 1SNIL= m == |y van jubd jo ajop
— g £}23Ys Jo Jaguwnu
pausde  sipbaubbo synpapAy  — W WX 19 M FLHE SR #eq b
MIdLE = uanoubisap aloud L 4y | uewsiuBnoup| LU a1h] LlaAad ooono HRBEILIDS
G i3d [ -0 SRD aduing—ynoipéy
SYChaIBon JNCIPAY SAUE T dsK | 13 o 77T EERN purency
b N s £9 P Winsbup| ypzyaI 225
apehaufibn ojncIpAy [ X THESS N + T
N 6 IS ches peads uoyng ysnd
8B} Wl | Jejonuca Y [} I Y cT IZ0s [cods anjon
E(= a g =) ==
=7 S |d HE— P 2 ==
DA.OC == W m ca._ﬁwo_._m%uuo_ v_ﬁ.m_._a,:a:zmc,_ = %.%# Jadwn| %%wo co:u_.w._w_mwo_ x."‘mcozn__uﬁc_ = W |z m#OC
3%zl 5 |° o g e
13 | 8 ERE=
pulF E o} Wiy E |
. | X=100T+ISNIL= " jpuuLisy dins x
o | Y [T i %)
3= EdE]

‘peina|| D Uolasilued uslllm UNo yum Alue ue Buissod Jo Bulidon

Page 52 of 67

Working Instructions WIDOS 6113

12.05.15



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0

Wilhelm Dommer Séhne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 OW'DOS

GmbH website: http://www.widos.de email:  info@widos.de

10. Spare parts list

10.1. Basic machine

2
3
4 :
5 —— ° :
6 15 - 16
7-9
10 i 17
1
12- 14 18-19
20 - 22
23
24
25 - 26
27 - 29
30 - 35
% 38
37 39 - 40
41-43

12.05.2015 Working Instructions WIDOS 6113 Page 53 of 67



Qwipnos

Spare parts list Chapter 10
Basic Machine WIDOS 6113
Pos. |Name Piece Order no.
1 Upper clamp 4 0811255
2 Outer clamp, fixed 1 0811251
3 Inner clamp, fixed 1 0811252
4 Inner clamp, movable 1 0811253
5 Outer clamp, movable 1 0811254
6 Thread insert M 10 16 GEW-M10
7 Thread spindle 8 0811257
8 Spindle nut 8 63311
9 Washer M 30 DIN 125 8 01258
10 Straight pin 10 x 80 DIN 6325 8 6325J080
11 Straight pin 8 x 80 DIN 6325 8 6325H080
12 Connecting plate 3 1 0811233
13 Hexagon-head screw M 12x30 DIN 933 4 0933L030
14 Washer M 12 DIN 125 4 0125L
15 Washer M 20 DIN 125 2 0125T
16  Hexagon-head screw M 20 x 60 DIN 933 2 0933T060
17 Hydraulic cylinder 2 0811256
Seals for cylinder 2 0841206D
18 Connecting plate 2 1 0811262
19  Hexagon-head screw M 12x30 DIN 933 8 7991L030
20 |Tear-off bar 1 0815256
21 Hexagon-head screw M 12x15 DIN 933 2 0933L015
22 \Washer M 12 DIN 9021 2 9021L
23 Hose bunch 1 VSCHL6100
Coupling plug, flat packing 1 VST14
Coupling box, flat packing 1 VMU14
24 Extension 2 0811264
25 Hexagon-head screw M 16x150 DIN 933 2 0933P 150
26 Pressure washer 2 071133
27 Connecting plate 1 2 0811261
28 Hexagon-head screw M 12x30 DIN 933 8 0933L030
29  Washer M 12 DIN 125 8 0125L
30 Holding device for filter 2 093119
31 Washer M 8 DIN 125 4 0125H
32 Hexagon-head screw M 8x20 DIN 933 2 0933H020
33 Screwed connection GE 8L R3/8" 2 VXGEBL38
34  Filter 2 V092114
35 Hydraulic hose (770 mm) 2 391113
36 Hydraulic hose long 2 on request
37 Basic frame 1 0811258
38 Basic frame detachable extension 1 0811259
39 Pan-head screw M 12x25 DIN 933 8 0933L025
40  Washer M 12 DIN 125 8 0125L
12.05.2015 Working instruction WIDOS 6113 Page 54/ 1 of 67



Qwipnos

Spare parts list Chapter 10
Basic Machine WIDOS 6113
Pos. |Name Piece Order no.
4 Hexagon-head screw M 16x25 DIN 933 6 0933P025
42 Washer M 16 DIN 125 6 0125P
43  Terminal Strip 3 811242
- Reduction insert 0D 315-560 8 0808...*
- Pan head screw M 10 x 20 DIN 912 8 09124020
- Name plate 1 SCHT6100
- Hydraulic oil 11 HLPD35
-- Allan key with T-grip, size 8 1 ZIT08
- Socket spanner size 46 1 ZRS46
- Open-end wrench size 24 1 ZGG24
- Combination spanner size 19 1 ZRG19
*) When ordering, please state the dimension of the pipe !
12.05.2015 Working instruction WIDOS 6113 Page 54 /2 of 67



Spare parts list Chapter 10 OWIDOS

10.2. Hydraulic aggregate open (optional)

12.05.2015 Working Instructions WIDOS 6113 Page 55 of 67



Qwipnos

Spare parts list Chapter 10
Hydraulic aggregat, open WIDOS 6113

Pos. 'Name Piece Article No.
1 Pushbutton 1 ES3801

2 Grip with thread 1 H09061

3 Grip for hydraulic aggregate 1 1060061

4 Skintop-screwing M 12 x 1,5 1 EV1012

5 Button for pressure setting 1 101022

6 Valve box 1 on request
7 Treephase motor 1,5/2,0 kW (Type FE90L-2/4) 1 on request
8 Oil dipstick 1 1010212

9 Hexagon nut M 5 DIN 934 6 0934E

10 'Washer M 5 DIN 125 6 0125E

1 Tank cover 1 233236

12 |0il tank 10 | 1 on request
13 Hydraulic pump 1 on request
14 Protective frame for hydraulic aggregate 1 233221

15 Pan-head screw M 8x25 DIN 912 4 0912H025
16 |Washer M8 DIN 912 4 0125H

17 Pan-head screw M 6x10 DIN 912 4 0912F010
18 |Washer M 6 DIN 125 4 0125F

19 |Sheet metal cover for protective mounting 1 233232

20 |Plate "Manometer setting up" 1 SCHM®6100
21 Coupling sleeve, flat packed 2 VMU14

22 Coupling plug, flat packed 2 VST14

23 Connecting cable 5x1,5 mm2, 7 m 1 EL02515
24 Plug16 A 1 ESTO0316
25 Pressure gauge 0-250 bar 1 023004

26 Screwed connection for pressure gauge 1 V042314
27 Plate "Release pressure" 1 SCHD-L
28  Mini hose 1 V0400140
29 Oil drain screw 1 on request

12.05.2015 Working instructions WIDOS 6113 Page 56 of 67



Spare parts list Chapter 10 OWIDOS

10.3. Hydraulic aggregate enclosed (optional)

9-1

12

13

14 - 15

16

25

26 - 27

28 - 29

12.05.2015 Working Instructions WIDOS 6113 Page 57 of 67



Qwipnos

Spare parts list Chapter 10
Hydraulic aggregat, closed WIDOS 6113

Pos. 'Name Piece Order no.

1 Press button 1 ES3801

2 Grip with thread 1 H09061

3 Button for pressure relief valve 1 101022

4 Plate "pressure gauge adjusting value" 1 SCHM6100
5 Grip for hydraulic aggregate 1 1060061

6 Skintop screwing M 12x1,5 1 EV1012

7 Grub screw M 10x45 DIN 913 1 0913J045
8 Hexagon nut M 10 DIN 935 1 0934J

9 Pressure gauge 0-250 bar 1 023004

10  |Screwed connection for pressure gauge 1 V042314

1 Mini hose 1 V0400140
12 CEE-electrical socket 400V / 16 A 2 EST16EG
13 Power socket 230V 1 EST07021
14 |Fitting panel 1 1060103
15 Lens-head screw M 5x10 DIN 7379 8 7379E016
16 HKL-Screwing 1 EVH21252117
17 Cap for hydraulic box 1 1060105

18 Frame for hydraulic box 1 1060124

19 Lens-head screw M 5x16 DIN 7985 6 7379E010
20 Box for hydraulic box 1 1060102

21 Coupling sleeve, flat packed 2 VMU14

22 Coupling plug, flat packed 2 VST14

23 |Connecting cable 5x4 mm2, 10 m 1 on request
24 Plug32A 1 EST00132
25 Plate "Release pressure" 1 SCHD-L
26 Pan-head screw M 5x10 DIN 912 4 0912E010
27  Washer M5 DIN 125 4 0125E

28 Pan-head screw M 8x25 DIN 912 4 0912H025
29  Washer M8 DIN 125 4 0125H

30 Pressure accumulator 1 103206

31 Valve box 1 on request
32 Three-phase motor 1,5/2,0KW (Type FE90L-2/4) 1 on request
33 Hexagon nut M5 DIN 935 6 0934E

34 Washer M 5 DIN 125 6 0125E

35 Tank cap 1 233236

36 Oil tank 10 | 1 on request
37 Hydraulic pump 1 on request
38  Cover plate 1 1060111

39 | Oil dip stick 1 1010212

12.05.2015 Working instructions WIDOS 6113 Page 58 of 67



Spare parts list Chapter 10 OWIDOS

10.4. Planer

8
2
9-17
3-5
18 - 21
6 22
23
7
24 - 25
35 - 36
37-39
40 - 41

26 - 27

28

29 - 34

12.05.2015 Working Instructions WIDOS 6113 Page 59 of 67



Qwipnos

Spare parts list Chapter 10
Planer WIDOS 6113
Pos. Name Piece Order no.
1 Fastener for planer 1 0814251
2 Planer disc, right-hand 1 0824022
3 Knife 4 MES120
4 Spacer 4 MU120
5 Flat-head screw M 3x8 DIN 965 16 0965C008TX
6 Pan-head screw M 12x50 DIN 912 4 09121050
i Locking device for planer complete 1 082420
8 Rotary current gearing motor 1.1 kW 1 ADG11400
Switch cupboard 1 ADG1104
Switch for geared motor 1 ADG1103
9 Pan-head screw M 8x25 DIN 912 4 0912H025
10 Pan-head screw M 8x20 DIN 912 2 0912H020
1" Washer for gear shaft 1 081414
12 Driveshaft KU63 1 0824111
13 Dowel spring 8 x 7 x 90 DIN 6885 1 6885H090
14 Dowel spring 8 x 7 x 18 DIN 6885 1 6885H018
15 Disc (front) for geared motor 1 081409
16 Flat-head screw M 8x20 DIN 7991 1 7991H020
17 Chain wheel, small 1 081412
18 Ball bearing 600327 2 L6003Z
19 Bolt 1 081410
20 Washer M 16 DIN 125 9 0125P
21 Hexagon nut M 16x1.5 DIN 934 1 0934Y
22 Ball button C 40 DIN 319 1 0319C40
23 Handle bar 1 071409
24 Cable HO7 RN-F 5x1.52 ; 6 m 1 EL02515
25 Phase-inverter plug CEE 16 A, 400 V 1 EST0416
26 Cover 1 081404
21 Pan-head screw M 4x12 DIN 912 4 0912D012
28 Planer disc, left-hand 1 0824032
29 Bearing seat 1 0824023
30 Ball bearing 1 L6030
31 Chain wheel, large (1/2", 120 teeth) 1 0814132
32 Chain 1/2" x 5/16", 158 rolls 1 K1216
33 Chain joint 1/2" 1 KSCH12
34 Flat-head screw M 10x20 DIN 7991 4 79914020
35 Lifting eye nut M 16 DIN 582 1 0582P
36 Flat-head screw M 16 x 30 DIN 7991 1 7991P030
37 Hexagon nut M 10 DIN 985 2 0985J
38 Washer M 10 DIN 125 2 0125J
39 Pan-head screw M 10x45 DIN 7984 2 7984J045
40 Suspension plate for planer 1 081406
4 Counter plate 1 081407
Torx-screw driver 1 TX10
12.05.2015 Working instruction WIDOS 6113 Page 60 of 67



Spare parts list Chapter 10 OWIDOS

10.5. Heating element

2 17
3
18 - 21
4-8
22 - 23
9-11
2
12
13- 16
25 - 26

35
27-29
30 36
31-33 37
34

12.05.2015 Working Instructions WIDOS 6113 Page 61 of 67



Qwipnos

Spare parts list Chapter 10
Heating Element WIDOS 6113
Pos. Name Piece Order no.
1 Heating element (400 V) 1 H6113E
Heating plate new 1 HP6113E
Heating plate in exchange 1 HPT6113E
2 Lifting screw M 12 DIN 580 1 0580L
3 Angle long 2 08152551
4 Grip 2 071508
5 Disc without collar 2 0715091
6 Disc with collar 2 0715092
7 Insulating disc 4 071509
8 Axis for grip 2 071507
9 Angle short 2 08152552
10 Pan-head screw M 10x50 DIN 912 4 09124050
1 Spring washer B 10 DIN 127 8 0127J
12 Tapped bushing 4 HGEW-M10
13 Temperature probe PT 1000 1 H09082
14 Holder for temperature probe 1 023536
15 Lens-head screw with cross slot DIN 7985 2 79850006
16 Tooth lock washer M4 DIN 6797 vz 2 6797D
17 Terminal box 1 071550
Box upper part 1 0815511
Box bottom part 1 0815512
18 Frame with housing 1 081550-0
19 Cover for terminal box 1 071555
20 Pan-head screw M 6x16 DIN 6912 8 6912F016
21 Pan-head screw M 3x6 DIN 912 4 7985C006
22 Heat sink 1 081552
23 Pan-head screw M 4x14 DIN 912 4 0912D014
24 Insulating piece 1 071556
25 Cable, 5m 1 EL02515
26 Cekon plug 16 A 1 EST0116
27 Distance piece 4 081554
28 Tapped bushing 4 081553
29 Pan-head screw M 6x40 DIN 912 4 0912F040
30 Flat-head screw M 3x8 DIN 7991 2 7991C008
31 Centering piece for control 1 211208
32 Semiconductor relay 1 ES2010
33 Triac MAC79A8 1 H09088
34 PTFE - joining piece 1 211505
35 Screwing 1 EV10201
36 Window, tinted 1 H09071
37 Controller G4 with triac 1 H0908230D
12.05.2015 Working instructions WIDOS 6113 Page 62 of 67



Spare parts list Chapter 10 OWIDDS

10.6. Protection box

12.05.2015 Working Instructions WIDOS 6113 Page 63 of 67



Spare parts list Chapter 10

Qwinos

Pos.

BN -

12.05.2015

Proection Box WIDOS 6113
Name

Reception box

Sheet steel

Lifting screw M 16 DIN 580
Fitting cap 60x60

Working instructions WIDOS 6113

Piece

AN -

Order no.

EIN6100
0815201
0580P

on request

Page 64 of 67



Spare parts list Chapter 10 OWIDOS

10.7. Lift off device (optional)

12.05.15 Working Instructions WIDOS 6113 Page 65 of 67



Qwipnos

Spare parts list Chapter 10
Lift-off Device (optional) WIDOS 6113
Pos. Name Piece Order no.
1 Jib crane GMC 100.12 1 on request
2 Crane mast 1 on request
3 Limit stop for crane mast 1 081122
4 Grub screw M8x20 DIN 913 2 0913H020
5 Straight pin @ 6x60 DIN 6325 2 6325F060
6 Lens-head screw M4x10 ISO 7380 2 7380D010
7 Holder on the top 1 0811272
8 Hexagon head screw M12x 40 DIN 933 4 0933L040
9 Washer M12 DIN 9021 4 9021L
10 Holder on the bottom 1 0811273
1 Hexagon head screw M12x 40 DIN 933 4 0933L040
12 Washer DIN 9021 4 9021L
12.05.2015 Working instructions WIDOS 6113 Page 66 of 67



WIDOS Einsteinstr. 5 Phone  ++49 7152 9939 0

Wilhelm Dommer Séhne D-71254 Ditzingen-Heimerdingen Fax ++49 7152 9939 40 O\I\"DDS

GmbH website: http://www.widos.de email:  info@widos.de

11. Declaration of conformity
In the sense of the EC guideline, EC-Machinery Directive 2006/42/EG

Corporation
WIDOS GmbH
Einsteinstr.5
D- 71254 Ditzingen-Heimerdingen

Declares under own responsibility that the product

Plastic Welding Machine
WIDOS 6113

to which this declaration refers corresponds to the following norms and normative documents:

1. DIN EN IS0 12100 — 1 and 2 (substitute for EN 292 parts 1 and 2)
Safety of machines, basic terminology, general guidelines for design

2. DIN EN 60204.1
Electric equipment of industrial machines

3. DIN EN ISO 4413
Safety specifications for fluid technical installations and components

4. DIN EN 60555, DIN EN 50082, DIN EN 55014
Electro-magnetic resistance

The technical documentation is completely available.
The following technical documentation can be examined at the corporation mentioned above:

- testing documents
- other technical documents

Ditzingen-Heimerdingen, 5/12/2015

Martin Dommer (Technical director)

12.05.15 Working Instructions WIDOS 6113 Page 67 of 67



